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g Tl & % 1 qoifel & forg ot T[oneies aoad s 2 |
Tad BY H R W guiie & forg
T o ol Tl & 1 <1 O f
axi=a=lxa o @ g 2 -3 x (-1) = 3
3x-1=-3
-6x-1=6
-1x13=-13
-1 | & oY oI IHD © °
1.4.4 [V ST Aread I[oreri KBANIGRZLS
3, -4, -2 &I Y |
[Bx (-4)] x (-2) (3) x [ (-4) x (-2)] R fa=m R |
Ugel 3 TG -4 G IO BT | TN Fd9H (-4) T (-2) BT I[OM BN |
U OGS B (-2) I IO N | aRETd qUAHA B 3 H IO B |
= (12) x (-2) =24 = 3x(+8) =24

3 [3 x (-4)] x (-2) = 3 x [(-4) x (-2)]
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a(b+c) =axb+axc
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(i) (-7) x [2 + (-5)] (-7)x 2 + (-7) x (-5)
= (-7) x (-3) = +21 -14+35 = +21

(ii) (-4) x [(-3) + (-7) ] (-4) X (-3) + (-4)x(-7)
= (-4)x(-10) = 40 12 + 28 = 40

(iii) (-8) x [(-2) + (-1)] (-8) x (-2) + (-8)x(-1)
= (-8) x (-3) = +16 +8
=24 =24

FT 89 Hg Ahd ¢ b goiiel & forg I W o @1 faarer fm v ® 2 g

@me vu d [ax(b+c)=axb+axc|

1.4.6 YUIid & ANT & 0T

o= AR BT TGP g9 YRT BIT |
DA foremst DT e ——
(-8)+(-2) =4 URYH TS Yulid & (8)+4 e
(2)+(8)=% R T i W 2| (3)+(-8) = §
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quifehi & 9RT W T YuTies &1 U7 3MIeTH I8 ¢ |
%A fafigar — &9 98 99d € & gof At & forg T o fafme =81 2
3MTSY, Yuis & oIy SHaT Sifd &Y 3T SHWR &1 Ts IR H 3@ Fahdl @ [
(-8) = (-2) # (-2) + (-8)
&7 [ (-6) + 2] T4 [2 + (-6) ] Th FHIT &P
31T B9 U8 HE 9ad € & guniel & fog wrr su At =d 2
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(.)(4% 5) 5x(4) (a) 8= TorerH
(i) (-4) x [(-3) +(-2)] = (-4) X (-3) + (-4) x (-2)  (b)7 e
(i) 4@ li\UIICb +7 AT YUlieh, YOS (-4) X (+7) = (-28) T Jolids (c) faeRoT o7
(iv) (-4) x [(-7) x (5)] = [(-4) x (-7) ] x (3) (d) T o1

2. Uil & IO & YORH B & H 3@ IR Raq i @ gl i |
(i) 26 X (-48) = (-48) X +oovveeeeeer.
(i) (-6) X [ (-2) + (-1)] = (-6) X (-2) + (-6) X vvvveve.. fyeRor o1
(iii) 100 x [(-4) x (-52) ] = [100 X ......... ] x (-52) e
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3. I orrl & TN BR OB S DI |
(i) 26 x (-48) + (-48) x (-56) (ii) 8 x (78) x (-125)
(iii) 9 x (50-2) (iv) 999 x 45
4. 8T /T 919U | Told BT DI el BRD [oTRdy |
(i) qoifept BT To Hg & |
(ii) guifepl ® 9WT a8 7 |
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(iv) Uil @7 o AT W AR gar 2|
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(ii) Yoriepl @& oI AT AR &, 31 |+ quriel @ a1 b & forg — E

a+b =b+a 0 0=

(iii) qUitel & o AT wread B, Ui W Uil a, b @ ¢ @ fory = 3

(@a+b)+c =a+(b+c) T g = P

(iv) T & ofta e 1 doawa 2, f5el Rl foee & quifet & amr & qofe @ E 3

qRATI T TeTd BIdl & | UROH gelce 8N IS geTcd qUIie & URAMT Sger 8fm == 01—

3R FTHD B AR FOHE qUIich BT GRATT AfRIE €| S
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5. QUi U & A=A B Wa"éﬁﬁ% Sl E
(i) Tt Tort @ orrfa wqd B ¥ af a T b Ui ¥ o ax b @ qte 2R = %
(iiwﬁéﬁ?ﬁiﬁnwwﬁrﬁﬁﬂsﬁm% HWbW%ﬁaxb bxa 3 3
(ili) O @ st Ui 1, dee 8, et Bl o e @ fitax1=1xa E  ©3
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6. I T G wi faRor T[ur eI & | i fbeel 9 QUi a, b dmc ® fow B o 3
ax(b+c)= axb+axc = T3

7. W@WE%WW%%W [EATRAT g fIeR0T 07 BAR URGe &l o a9 = 3
€| = N
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